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ZEAAE int array[5] ={1, 10, 100, 1000, 10000 },

array[3] = 120;

printf (I %d Aarray[2]);
Int a = array[3] + array[4],
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array q 1;
array[1]=10;
array _2_ =100;
array[3]=1000;
array[4]=10000;
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Int array[5]

array[3] = 120;

printf (I %d

= {1, 10, 100, 1000, 10000 };

Aarray[2]);

Int a = array[3] + array[4],
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#:1HH : 15.2mm, 2HH : 3.5mm, 3HH : 45.3 mm

#include <stdio.h >

int  main(){

double preci: {iz, 3.5, 45.3}; i

printf ("1 —
printf ("2 —
printf ("3 —

return O;

}
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ZA\n", prec|
ZA\n", precl
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Int array[ 1 ]

#include <stdio.h >

int  main(){
double prec[3] ={15.2, 3.5, 45.3};
int n=2;

printt ('3  — | %.af  #A\n", prec[n]);

return O;

}
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#include <stdio.h >

int  main(){
double prec[3] ={15.2, 3.5, 45.3};

int 1, num3j;

for I=0;1<3;i++){
printt (I %d — | %.4f  #A\n A i+1, prec[il);

numi]= 1i;
}

return O;
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#include <stdio.h >

double average(double x[]);

int main(){

}

double prec[3] = {15.2, 3.5, 45.3};
int i;

for i=0;i<3;i ++)

printf ("%d  — | %.1f
printf (" — | %.2f
return O;

double average(double Xx[])}{

int i;
double sum = 0.0;

£A\n", i, prec[i]);

£ A \n", average( prec));

for (i =0;i<3;i++) BEUCECHNDERZ R EHTET ZENHEKD

sum+=X[1];

rewrn - sum/3; BIEICESIZET & - BI8(E [1 ZDH7u
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int array2d[5][5];

for(x = 0; x < 5¢++){ ;
for(y = 0; y < 5y++){

array2d[x][y] = (x+1) * (y+1)] === 3
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Of) - X3 - 4x2 + 6X + 2 DitEEES,
1 = x = 100DHETKSHKLD

#include <stdio.h >

int  main(){
int x, x[10], i;

for (x=1;x<= 10; x++}{
fX[X -1]=x*Xx*X - 4*X*X+6 * X+ 2

}

printf  ("x |" );

for (i=0;i< 10; i++){
printf  ("%4d" i+1);

}

printf ("\nfx |[");

for(i=0;i< 10; i++){
printf  ("%4d", fx[i]);

}

return O;




@ [2—-7. BT CED2E] DTIRhLS
w==Z(CLTC, BB NERZIED THLD

#include <stdio.h >

int main(){
int m[9][9], i,]j;

for iI=0;1<9; i++){
for =0;j<9; A
miJil=C i +1)*@+1)

}
}
printfit " | 123456789 \n");
printf (" -- +o-m-mmmmmm e \n");

for (i=0;i<9;i++){
printf ("%d |", i);
for =0;j<9; 1
printf  ("%3d", m[ i ][i]);

}

printf  ("\n");
}
return O;
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® 2 DDA F!pred3], differ[3]Z & T 3
pred3] (C(EPEK=E%, differ[3] (CIEETO.02KA L THK.
® %% calc_difdoublepred], doubledif[) A TIZ,
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1 HEDRF/KE(E, 15.2 mmT, FIEDZE(E' 6.13 mMmTY.
2 HEHDRF/KEZ(E, 3.5 mT, FHEDZE(F-17.83 mmTY.

3HB®DEKEZ(E, 15.2 mmT, FHEDZEE 23.97 mmTI.
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#include <stdio.h > main()E#X

void calc_dif (double x[], double yI[]);

int  main(){
double prec[3] ={15.2, 3.5, 45.3 }, differ [3] ={0.0, 0.0, 0.0 h
int i;

dif (prec, differ);
for (i=0;i1<3;i++){

printf ("%d  — | %3.1f 2
< — | %4.2f mm# A\n", i, prec[i], differ[ 1]);
} void calc_dif (double x[], double y[]}{
return O; int i:
} double sum = 0.0, average;
for i =0;1<3;i++)
sum+=x[1];

average =sum/ 3;
ZETIETERAMDIE,

BRI T DEERDMEDI 0 & DO ETEE for (i =0;i<3;i++)
=B (CL DH\DF—SIEZBEHHNRE S } y[i]=x[ i] - average;

calc_dif)E9%%
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®\Vatson-Crick base pairX—71
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@ & & DY ZA%HN I Dsense[101¢, #H
TATACGACTCACTATAGATA fEIEZIZIN T Bantisense[101EE=S 9 B.
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TTAGAGCTAGAAATAGCAAG antisense[ 101 (AR EABH L 7R0)

O iR L EXRHFNKZESEANT, AR
TR AL UAR TG 5T, GI&AsC .ELVD K D(Cantisense[101]
TATCAACTTAGAAAAATCAG (CRIDSTEZEZIN L TLL
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sense : TATACGACTCACTATAGATAGATAGGGCTGGTTAATCGTTTTAGAGCTAGAAATAGCAAGTTAAAATAAGGCTAGTCCGTTATCAACTTAGAAAAA

antisense : ATATGCTGAGTGATATCTATCTATCCCGACCAATTAGCAAAATCTCGATCTTTATCGTTCAATTTTATTCCGATCAGGCAATAGTTGAATCTTTTT
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#include <stdio.h >
#include <Windows.k»

int  main(){
char sense[101] =
{"TATACGACTCACTATAGATAGATAGGGCTGGTTAATCGTTTTAGAGCTAGAAATAGCAAGTTAAAATAAGGCTAGTCCGT

TAGAAAAA"
char antisense[101];
int i;
for (=0;i  <=100; i++){

if (sense[i]== "A")
antisense[ i]= 'T";

else if (sense[i]== "T')
antisense[ i]= 'A";
else if (sense[i]== 'G")
antisense[ i]= 'C';
else if (sense[i]== 'C")

antisense[ i]= 'G';
else
antisense[ i]= '\0';

}

printf ("sense :%s \n", sense);
printf ("antisense : %s \n", antisense);

return O;




